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Factor each completely.
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Solve each equation by factoring.
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Simplify each sum.
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Name each polynomial byand -
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A football is kicked into the air with an initial upward velocity of 80ft/second.

41) When will the ball hit the ground? 42) Calculate the height after 4 seconds.
(%) Write the function model T=4 Seco~ds
(b) sketch and label the graph fanBOFHs 2 _
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(c) find the time.
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At the circus, a clown is fired into the air from a cannon on a platform into a tank 128 feet
below the platform. The clowns initial velocity is 32 ft/sec. When will the clown land in the
pool?

43) (&) Write the function model. 44) Find the time. Clearly show your work.
() sketch and label the graph.
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